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I Dispute »ar/®11 whether nwnan, followed by nnrh, carries liability for mnnir oy
a  Ra7: there is liability — nwnan is simply the beginning of the nntn process
i proof: Rma — if set #1 testified that master blinded slave then knocked out his tooth — which master prefers (?) —
and they prove to be pnmit — they pay the slave the value of his eye
1 Questions (if we read the 8117772 straight, as having only 2 sets of witnesses):
(a) Once the slave has been freed, why pay him the value of his eye?
(b) They should be paying the entire value of the slave to the master
(c) What is the meaning of “13 91mR 190” (i.e. the master prefers it this way)?
2 Interpretation #1 (X27): there were 3 sets:
(a) 1I¢ set: first he knocked out his tooth, then blinded him (greater payment to newly-freed slave)
(b) 2" set: challenge (w/o nntn) 1t set and reverse order — to master’s benefit (minimal payment for tooth)
(c) 3 set: are mtn 2nd set, who tried to deprive slave of greater payment (for eye)
(d) implication: nwnan (of 24 set on words of 1% set) is the beginning of process of nnrn
3 interpretation #2 (7aK): there were only 2 sets
(a) 1I¢ set: master first blinded, then knocked out tooth
(b) 27d set: are ot 1st (on»n 1nY), but testify that on a different day, both happened — in reverse order
b »ax:no liability — once they’re challenged, they’re invalidated and off the “track of nnrn”
i proof: Rov of that Rn»11 employs “reversal and nnrn”:
1 1 set testifies that master first knocked out tooth then blinded (preference of Tay) and they are nnn
2 ruling: pay value of eye to master
3 question: (if 2" set - D1 — don’t testify to any harm) — should pay value of entire slave to master
4 interpretation #1 (»28): must be 2 sets; both of whom admit to harm (dispute is sequence)
(a) and: they reversed order while being o> first set
(b) note: 2" set must testify to an earlier date for damage; else they should pay entire value to master
(c) and: there must have already been 112 nT0Yn (then he fled and these 1y came into the picture)
5  intrerpretation #2 (N27)
(a) note: this must be his source, since Xw’1 isn’t analogous, since 1% set was wnamn and 24 set nrn
(b) since: kw1 is undesrstood as involving 3 sets, so must X0 be understood:
(c) 1+ set: testified to tooth then eye — and they ruled based on this testimony (j»1 13)
(d) 2" set: reverse order (no payment for overage of eye over tooth)
(e) 37 set: are ot 1t set — who then pay value of eye to master
(f) > nwnonis the beginning of nntn (and we don’t exclude o*wn2n 071y from the process of nnr)
6  retort (»2N): even if Rw1 must be interpreted as 3 groups (due to 19 IMR 170), no need to interpret 89’0 that way
(19 9mR T2 — he’s happy just to go free)
¢ Challenge (‘72ar 79): entire Xn»11 is difficult — there should be no payment to slave, regardless of sequence — just go free
i Retort (7aK): v. 1 stipulates that he goes free for either 1v or v — not for both (2"¢ one is normal tort)
d  Proposed support for x37. our mwn — N210/0M*av1 N2°13 *7 who are onNn, pay entire 4/5
i and: since they were onn on N1 (presumably first), they were already wnam, why pay for nnav
ii  rather: must be that nwnan doesn’t remove them from process of nnrn or liability thereof
iii  rejection: case could be where they were nnin for nn»av first — no nwnan on nm
e note: dispute in Y11 (7aR/R17) parallels earlier dispute in »R (”/8™)
i we assume: R™ is the one who maintains that nwnan cannot turn into nntn
ii  proof: X" rules that 0*1Y who are disproven regarding a murder get man (for nyn xY)
iii ~And: if they could have been liable for nntn, it would be 7”2 nn>n nInIRY 102170 1R —no mMan
1 Question: why give them man — since it’s 2 vs. 2 (sans nntn) — why believe 27 set?
2 Answer: case where supposed murder victim walked into court

www.dafyomivicc.org 70 © Yitzchak Etshalom 2016




